

---

## 12.1 Solutions

---

1. (a) A sequence is an ordered list of numbers. It can also be defined as a function whose domain is the set of positive integers.
- (b) The terms  $a_n$  approach 8 as  $n$  becomes large. In fact, we can make  $a_n$  as close to 8 as we like by taking  $n$  sufficiently large.
- (c) The terms  $a_n$  become large as  $n$  becomes large. In fact, we can make  $a_n$  as large as we like by taking  $n$  sufficiently large.
2. (a) From Definition 1, a convergent sequence is a sequence for which  $\lim_{n \rightarrow \infty} a_n$  exists. Examples:  $\{1/n\}$ ,  $\{1/2^n\}$
- (b) A divergent sequence is a sequence for which  $\lim_{n \rightarrow \infty} a_n$  does not exist. Examples:  $\{n\}$ ,  $\{\sin n\}$
3.  $a_n = 1 - (0.2)^n$ , so the sequence is  $\{0.8, 0.96, 0.992, 0.9984, 0.99968, \dots\}$ .
5.  $a_n = \frac{3(-1)^n}{n!}$ , so the sequence is  $\left\{ \frac{-3}{1}, \frac{3}{2}, \frac{-3}{6}, \frac{3}{24}, \frac{-3}{120}, \dots \right\} = \left\{ -3, \frac{3}{2}, -\frac{1}{2}, \frac{1}{8}, -\frac{1}{40}, \dots \right\}$ .
7.  $a_1 = 3$ ,  $a_{n+1} = 2a_n - 1$ . Each term is defined in terms of the preceding term.  
 $a_2 = 2a_1 - 1 = 2(3) - 1 = 5$ .  $a_3 = 2a_2 - 1 = 2(5) - 1 = 9$ .  $a_4 = 2a_3 - 1 = 2(9) - 1 = 17$ .  
 $a_5 = 2a_4 - 1 = 2(17) - 1 = 33$ . The sequence is  $\{3, 5, 9, 17, 33, \dots\}$ .
9.  $\{1, \frac{1}{3}, \frac{1}{5}, \frac{1}{7}, \frac{1}{9}, \dots\}$ . The denominator of the  $n$ th term is the  $n$ th positive odd integer, so  $a_n = \frac{1}{2n-1}$ .
11.  $\{2, 7, 12, 17, \dots\}$ . Each term is larger than the preceding one by 5, so  $a_n = a_1 + d(n-1) = 2 + 5(n-1) = 5n - 3$ .
13.  $\{1, -\frac{2}{3}, \frac{4}{9}, -\frac{8}{27}, \dots\}$ . Each term is  $-\frac{2}{3}$  times the preceding one, so  $a_n = (-\frac{2}{3})^{n-1}$ .
15. The first six terms of  $a_n = \frac{n}{2n+1}$  are  $\frac{1}{3}, \frac{2}{5}, \frac{3}{7}, \frac{4}{9}, \frac{5}{11}, \frac{6}{13}$ . It appears that the sequence is approaching  $\frac{1}{2}$ .  
$$\lim_{n \rightarrow \infty} \frac{n}{2n+1} = \lim_{n \rightarrow \infty} \frac{1}{2+1/n} = \frac{1}{2}$$
17.  $a_n = 1 - (0.2)^n$ , so  $\lim_{n \rightarrow \infty} a_n = 1 - 0 = 1$  by (9). Converges
19.  $a_n = \frac{3+5n^2}{n+n^2} = \frac{(3+5n^2)/n^2}{(n+n^2)/n^2} = \frac{5+3/n^2}{1+1/n}$ , so  $a_n \rightarrow \frac{5+0}{1+0} = 5$  as  $n \rightarrow \infty$ . Converges
21. Because the natural exponential function is continuous at 0, Theorem 7 enables us to write  
$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} e^{1/n} = e^{\lim_{n \rightarrow \infty} (1/n)} = e^0 = 1$$
. Converges
23. If  $b_n = \frac{2n\pi}{1+8n}$ , then  $\lim_{n \rightarrow \infty} b_n = \lim_{n \rightarrow \infty} \frac{(2n\pi)/n}{(1+8n)/n} = \lim_{n \rightarrow \infty} \frac{2\pi}{1/n+8} = \frac{2\pi}{8} = \frac{\pi}{4}$ . Since  $\tan$  is continuous at  $\frac{\pi}{4}$ , by  
Theorem 7,  $\lim_{n \rightarrow \infty} \tan\left(\frac{2n\pi}{1+8n}\right) = \tan\left(\lim_{n \rightarrow \infty} \frac{2n\pi}{1+8n}\right) = \tan \frac{\pi}{4} = 1$ . Converges
-

---

## 12.1 Solutions

---

25.  $a_n = \frac{(-1)^{n-1}n}{n^2+1} = \frac{(-1)^{n-1}}{n+1/n}$ , so  $0 \leq |a_n| = \frac{1}{n+1/n} \leq \frac{1}{n} \rightarrow 0$  as  $n \rightarrow \infty$ , so  $a_n \rightarrow 0$  by the Squeeze Theorem and

Theorem 6. Converges

27.  $a_n = \cos(n/2)$ . This sequence diverges since the terms don't approach any particular real number as  $n \rightarrow \infty$ .

The terms take on values between  $-1$  and  $1$ .

29.  $a_n = \frac{(2n-1)!}{(2n+1)!} = \frac{(2n-1)!}{(2n+1)(2n)(2n-1)!} = \frac{1}{(2n+1)(2n)} \rightarrow 0$  as  $n \rightarrow \infty$ . Converges

31.  $a_n = \frac{e^n + e^{-n}}{e^{2n} - 1} \cdot \frac{e^{-n}}{e^{-n}} = \frac{1 + e^{-2n}}{e^n - e^{-n}} \rightarrow 0$  as  $n \rightarrow \infty$  because  $1 + e^{-2n} \rightarrow 1$  and  $e^n - e^{-n} \rightarrow \infty$ . Converges

33.  $a_n = n^2 e^{-n} = \frac{n^2}{e^n}$ . Since  $\lim_{x \rightarrow \infty} \frac{x^2}{e^x} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{2x}{e^x} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{2}{e^x} = 0$ , it follows from Theorem 3 that  $\lim_{n \rightarrow \infty} a_n = 0$ . Converges

35.  $0 \leq \frac{\cos^2 n}{2^n} \leq \frac{1}{2^n}$  [since  $0 \leq \cos^2 n \leq 1$ ], so since  $\lim_{n \rightarrow \infty} \frac{1}{2^n} = 0$ ,  $\left\{ \frac{\cos^2 n}{2^n} \right\}$  converges to 0 by the Squeeze Theorem.

37.  $a_n = n \sin(1/n) = \frac{\sin(1/n)}{1/n}$ . Since  $\lim_{x \rightarrow \infty} \frac{\sin(1/x)}{1/x} = \lim_{t \rightarrow 0^+} \frac{\sin t}{t}$  [where  $t = 1/x$ ] = 1, it follows from Theorem 3

that  $\{a_n\}$  converges to 1.

39.  $y = \left(1 + \frac{2}{x}\right)^x \Rightarrow \ln y = x \ln \left(1 + \frac{2}{x}\right)$ , so

$$\lim_{x \rightarrow \infty} \ln y = \lim_{x \rightarrow \infty} \frac{\ln(1 + 2/x)}{1/x} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{\left(\frac{1}{1+2/x}\right)\left(-\frac{2}{x^2}\right)}{-1/x^2} = \lim_{x \rightarrow \infty} \frac{2}{1+2/x} = 2 \Rightarrow$$

$$\lim_{x \rightarrow \infty} \left(1 + \frac{2}{x}\right)^x = \lim_{x \rightarrow \infty} e^{\ln y} = e^2, \text{ so by Theorem 3, } \lim_{n \rightarrow \infty} \left(1 + \frac{2}{n}\right)^n = e^2. \text{ Convergent}$$

41.  $a_n = \ln(2n^2 + 1) - \ln(n^2 + 1) = \ln \left(\frac{2n^2 + 1}{n^2 + 1}\right) = \ln \left(\frac{2 + 1/n^2}{1 + 1/n^2}\right) \rightarrow \ln 2$  as  $n \rightarrow \infty$ . Convergent

43.  $\{0, 1, 0, 0, 1, 0, 0, 0, 1, \dots\}$  diverges since the sequence takes on only two values, 0 and 1, and never stays arbitrarily close to either one (or any other value) for  $n$  sufficiently large.

45.  $a_n = \frac{n!}{2^n} = \frac{1}{2} \cdot \frac{2}{2} \cdot \frac{3}{2} \cdots \frac{(n-1)}{2} \cdot \frac{n}{2} \geq \frac{1}{2} \cdot \frac{n}{2}$  [for  $n > 1$ ] =  $\frac{n}{4} \rightarrow \infty$  as  $n \rightarrow \infty$ , so  $\{a_n\}$  diverges.



---

## 12.1 Solutions

---

57. If  $|r| \geq 1$ , then  $\{r^n\}$  diverges by (9), so  $\{nr^n\}$  diverges also, since  $|nr^n| = n|r^n| \geq |r^n|$ . If  $|r| < 1$  then

$$\lim_{x \rightarrow \infty} xr^x = \lim_{x \rightarrow \infty} \frac{x}{r^{-x}} \stackrel{H}{=} \lim_{x \rightarrow \infty} \frac{1}{(-\ln r)r^{-x}} = \lim_{x \rightarrow \infty} \frac{r^x}{-\ln r} = 0, \text{ so } \lim_{n \rightarrow \infty} nr^n = 0, \text{ and hence } \{nr^n\} \text{ converges}$$

whenever  $|r| < 1$ .

61.  $a_n = \frac{1}{2n+3}$  is decreasing since  $a_{n+1} = \frac{1}{2(n+1)+3} = \frac{1}{2n+5} < \frac{1}{2n+3} = a_n$  for each  $n \geq 1$ . The sequence is bounded since  $0 < a_n \leq \frac{1}{5}$  for all  $n \geq 1$ . Note that  $a_1 = \frac{1}{5}$ .

63. The terms of  $a_n = n(-1)^n$  alternate in sign, so the sequence is not monotonic. The first five terms are  $-1, 2, -3, 4,$  and  $-5$ .

Since  $\lim_{n \rightarrow \infty} |a_n| = \lim_{n \rightarrow \infty} n = \infty$ , the sequence is not bounded.

67. For  $\left\{ \sqrt{2}, \sqrt{2\sqrt{2}}, \sqrt{2\sqrt{2\sqrt{2}}}, \dots \right\}$ ,  $a_1 = 2^{1/2}$ ,  $a_2 = 2^{3/4}$ ,  $a_3 = 2^{7/8}$ ,  $\dots$ , so  $a_n = 2^{(2^n-1)/2^n} = 2^{1-(1/2^n)}$ .

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} 2^{1-(1/2^n)} = 2^1 = 2.$$

*Alternate solution:* Let  $L = \lim_{n \rightarrow \infty} a_n$ . (We could show the limit exists by showing that  $\{a_n\}$  is bounded and increasing.)

Then  $L$  must satisfy  $L = \sqrt{2 \cdot L} \Rightarrow L^2 = 2L \Rightarrow L(L-2) = 0$ .  $L \neq 0$  since the sequence increases, so  $L = 2$ .